TEMIMSBLAREFERAE (R1.10 1%E)
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ERAXS 9:00~ 12:00~ 17:00~ 9:00~ 12:00~ 9:00~
12:00 17:00 21:30 17:00 21:30 21:30
1 Eams 40N 550 660/ 880/ 1,210/ 1,540 2,090
1 gggg; 40N 550 660/ 880 1,210 1,540/ 2,090M
= 80A 1,100 1,320 1,760 2,420H 3,080H 4,180H
2RBERE 30A 550 660M 880M 1,210M 1,540M 2,090
2= (ggé) 5508 660H 880H 1,210 1,540 2,0901
FHEEYE 32A 660H 880H 1,100MH 1,540M 1,980H 2,640H
= EAHS BEEfS
HRBRERE| v« = (3BMLIA) (—BEETCE0) i %
210 (P | — = 1,100/ 220 EREREICRS.
E7J - g 1,650/ 330/ EREREICRS.




